Electronic Supplementary Material (ESI) for Environmental Science: Processes & Impacts.
This journal is © The Royal Society of Chemistry 2024

5202Hg (%)

5292Hg(%o)

A'19°Hg(%e)

04

0.2 -
0.0 -
-0.2
04 -
-0.6 -
-08 -
1.0 -
12
14 -
16 -

1
]

L)

|

A

-1.8

=
»

r=0.14
600 900 1,200
Elevation (m)

300

S oo
N © N

& o
o »
i

0.8 -
1.0 -
42 -
A
16 -

=045

-1.8
0.5

1.0 15 20 25 30 35 40 45

Wind speed (m/s)

Figure S1

rr=0.35
22 24 26 28 30 32
Mean warmest temperature (°C)

A199Hg(%o)

1,500

A199Hg(%o)

A199Hg(%o)

0.2

0.2

0.1 +

1,500

B
O .
|
r?=0.21
0 300 600 900 1,200
Elevation (m)
D
o
= 0.51
05 10 15 20 25 30 35 40 45
Wind speed (m/s)
F
L ‘ '/_”CD—‘
r=0.16
55 60 65 70 75 80 8 90 95 100
Relative humidity (%)




Foliage concentration (ng/qg)

Figure S2

90
80
70
60
50
40
30
20
10

0

1 @

O

. r> = 0.60
p <0.05

0.0 1.0 2.0 3.0 4.0 5.0 6.0

TGM concentration (ng/m3)



TG MﬁzozHg-fO“ageaznzHg

S I
o o b o W

1
w

TGMgzzy,-foliageszny,g
(=]

&
o

=
=

Figure S3

2 = 0.41

2 3 4 5
TGM concentration (ng/m?3)

2 = 0.46
90

10 20 30 40 50 60 70 80
Foliage concentration (ng/g)

0

TG MAmH!-foIiageAmHg

TGM 10y -foliage iosyy,

o o
w b

N

b o o o
o TR N

-

S o
w N

Now B

o

S &6 o © © © ©
N = -

-0.3
-0.4
-0.5

B
—@—
O
®
O @
_O—
® 2 =0.0017
0 1 2 3 4 5 6
TGM concentration (ng/m?3)
D
l O
a .f?.%
o @
I O
| ® o001
0 10 20 30 40 50 60 70 80 90

Foliage concentration (ng/g)



@D N o ©
© © © o

50
40
30
20
10

0
1,

Foliage concentration (ng/g)

90
80
70
60
50
40
30
20
10

Foliage concentration (ng/g)

0

rr=0.12
rr=0.19

000 1,100 1,200 1,300 1,400 1,500 1,600 1,700

Annual precipitation (mm)

2 = 0.92
p <0.05

r?=0.38

0.5

920
80
70
60
50
40
30
20
10

0

Foliage concentration (ng/g)

Figure S4

T

1.0 15 20 25 3.0 35 40 45

Wind speed (m/s)

r2=0.03
r?=0.02

55

60 65 70 75 80 85 90 95 100

Relative humidity (%)

Foliage concentration (ng/g)

Foliage concentration (ng/g)

90
80
70
60
50
40
30
20
10

90
80
70
60
50
40
30
20
10

0

B
1 O
1 + O
1] Tt T-'-'--'=.®___‘__:_— :::h ---------
| [
1 O
| rr=0.18
2 =0.05
0 300 600 900 1,200 1,500
Elevation (m)
D
. @
| r?2=0.45
rr=0.12
20 22 24 26 30

28
Mean warmest temperature (°C)



05 -0.5
A
5;" 1.0 - O “‘:"’-1_0
> 15 1 @) B g-1.5
= 201 - -2 =
2 paaeelY S
(=] @—-’ o
F 25 1 & 2.5
P @ ‘o
= 30 - = 30
L} o
= o =
-35 A 2 =0.03 -35
r=0.23
40 ; : : , : : 4.0
1,000 1,100 1,200 1,300 1,400 1,500 1,600 1,700
Annual precipitation (mm)
0.5 0.5
(o
210 - @ Z-10
8 g
Ce] L]
© .15 - 2 15
g g
9 20 1 oS -20
[] []
o o
& -25 - a 25
] 8
3 =
= 30 4 :
o 30 & 30
= @ -
-3.5 A rr=0.37 -3.5
2 =0.00
-4.0 T T T T T T T '4-0
05 10 15 20 25 30 35 40 45
Wind speed (m/s)
0.5
E
£-10 - @)
& 15 - @
S 20 - - @-= O
= S S
F 25
8
o @
= -30 -
o
35 - O rr=0.01
r2=0.00
4.0 ——
55 60 65 70 75 80 8 90 95 100

Figures S5

Relative humidity (%)

B
1 @
I O
i _7_*"“-;:Q:’:Z --------------- .
O ““““““ . _______ T S
1 r2=0.09
| O 2= 0.02
| ©
0 300 600 900 1,200 1,500
Elevation (m)
D
1 O
8 ® r?=0.13
rr=0.04
20 22 24 26 28 30

Mean warmest temperature (°C)



(=]

(ng/g)

c

Litter concentratio

Litter concentration (ng/g)

Litter concentration (ng/g)

140
130 +
120 -
110 +
100 +
90 A
80 -
70 A
60 -
50 A
40 A
30

@)

r?=0.06
rr=017

1,000 1,1

140

00 1,200 1,300 1,400 1,500 1,600 1,700

Annual precipitation (mm)

130
120 +
110 ~
100
90
80 -
70 A
60 -
50 -
40 -
30

O

rr=0.12
rr=0.24

0.5

T

1.0 15 20 25 3.0 35

Wind speed (m/s)

40 45

- A A o

= N W b

o O O o
I L I

100 +
90 +
80 +
70 -
60 -
50 -
40 ~

= =046
a2 =0.34

N
~

_O_

30
55

60 65 70 75 80 85 90 95 100

Relative humidity (%)

140

130 -
120 -
110 -
100 -
90 A
80 ~
70 A
60 -
50 +
40

Litter concentration (ng/g)

r2=0.26
r2=0.37

30

-
N
o

600 900
Elevation (m)

300

1,200

1,500

Litter concentration (ng/g)
o O O O O O o o o

B
o
L

w
o

— (O

rr=0.23
r?=0.36

20

22 24

26 28

30

Mean warmest temperature (°C)

w
[4)]
o

W

o

o
1

N

a

o
I

200 ~

150 ~

-

o

o
I

F

rr=0.02
rr=0.01

Topsoil concentration (ng/g)

50

1,000 1,100 1,200 1,300 1,400 1,500 1,600 1,700

Annual precipitation (mm)



w
(4}
o

e a 350
G, 0" | T
& 300 1 D 300
c 2 c
9 250 | * O 250
- o e =
(1] 4 =
= e £
€ 200 - S 200
g g
c ,r’”
g 150 1@ 227 § 150
% c--” . b

100 - o
4 r=042| @100
(o] 3 o
F 5 r ‘ : el 50

0 300 600 200 1,200 1,500
Elevation (m)

350 350
— —
C, 2
2300 c 300
— S—
c c
9 250 | 2 250
) it
© e
= =
c 200 - S 200
3 3
c =
g 150 g 150
S '

100 - 100
a T ] 2 = 0.39 §
(o] 2 —
2 | | | Ir 029 | = 50

20 22 24 26 28

Figure S6

Mean warmest temperature (°C)

@ =060
: p<0.05
@ = 0.47

0.5

1.0 15 20 25 30 35 40

Wind speed (m/s)

4.5

2 = 0.11
r?=0.10

55

60 65 70 75 80 85 90 95 100

Relative humidity (%)



0.5 0.5
2 © Al g
g 0.0 - g 00
b o B %
0 05 Baes 0 _
3 0.5 "-l:.d‘,_,_ . g 05
1? -1.0 - T - O ® ..? 1.0
o O,-" =
g s £ 15
& -1.o 7 - & -1.
© 2.0 A @ -2.0
© ©
L 25 ® #=040| Ww 25
r=0.15
-3.0 T ‘ T T : : 3.0
1,000 1,100 1,200 1,300 1,400 1,500 1,600 1,700
Annual precipitation (mm)
0.5 0.5
=] + ¢ o
0.0 - . & 0.0
"0 05 | e 0 05
(2] > 72}
a | . — o
‘g 1.0 - -—-:-@f\ — -? -1.0
£ " 2
g 15 A . g 15
% o %o
S 5
820 aorr| 8 2.0
© A ©
w 25 4 p<0.05| L 25
—@— -
r=0.00
—3.0 T T T T T T T '3.0
05 10 15 20 25 30 35 40 45
Wind speed (m/s)
0.5
£ O E
§ 00 -
=
9 05 - Qo
s ST @ -
£ 104 T2 —(—
4 -
;‘o -1.5 A o
S 20 -
©
L 25 - . r2=000
r=0.01
-3.0 ——
55 60 65 70 75 80 85 90 95 100

Figure S7

Relative humidity (%)

OB
_ e @
@
e ‘_'_6— ______________________
Q,«"’/
| O
1 r2=0.46
r2 = 0.00
O
0 300 600 900 1,200 1,500
Elevation (m)
— D
R () Ss
] @
1 r2=0.54
® r2=0.01
20 22 24 26 30

28
Mean warmest temperature (°C)



